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What Works

* Track fits assuming constant B-field (as demonstrated last
month)

* Vertex fits

* Vertex-constrained fits (almost)
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MIPP (FMAL E907)

Mom.: 120 GeV/c
Target: Carbon - 2%
Run: 15860
SubRun: 0

Event: 100
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MIPP (FMAL E907)

Mom.: 120 GeV/c
Target: Carbon - 2%
Run: 15860
SubRun: 0

Event: 100
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What Needs Work

* Track fits using B-field map; there is a bug in the RecPack
code... some (recent) progress has been made here.

* Track fits involving wire hits
* beam tracks
* incorporating downstream hits into TPC tracks

* Vertex-finding
* TPC gas interactions
* secondary vertices



Track Fits Assuming
Constant B-field
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Track Fits Using
B-field Map
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MIPP {FNAL ES07)

Mom.: 120 GeVic
Target: Carbon - 29
Run: 15860
SubRun: 0

Event: 4
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Track Fits Using Simple
B-field Map (B(x,y,z) = const)
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